15

n A team of people win £90 in a quiz 30
They share the money equally. 45
60
They get £15 each. 75
How many people were on the quiz team? 90
6
1 mark

n Here are three number cards.

S|4 7

Billy makes a 2-digit number and a 1-digit number.
He multiplies the numbers together.
odd x odd = odd

The answer is an odd number

What could Billy’s multiplication be?

1 mark

or 47 x5

n Rory buys 3 large packs of stickers and 2 small packs of stickers.
Each large packs contains 24 stickers. Each small pack contains 8 stickers.

How many stickers did Rory buy all together?

24 2x8=16 72
X 3 + 16
Show 7 2 8 8
Your 1
method
88 stickers
2 marks



Joe
Typewriter
15
30
45
60
75
90

Joe
Typewriter
6

Joe
Typewriter
odd x odd = odd

Joe
Typewriter
4

Joe
Typewriter
5

Joe
Typewriter
7

Joe
Typewriter
or

Joe
Typewriter
47 x 5

Joe
Typewriter
24

Joe
Typewriter
3

Joe
Typewriter
2x8=16

Joe
Typewriter
x

Joe
Typewriter
2

Joe
Typewriter
1

Joe
Typewriter
7

Joe
Line

Joe
Typewriter
72

Joe
Typewriter
16

Joe
Typewriter
88

Joe
Typewriter
88

Joe
Typewriter
+

Joe
Line


There is 1500ml of juice in a jug.

Ali and Bailey pour 350ml each.

Casey and Drew share the rest of the juice equally.

How much juice does Drew get?

Show
Your
method

350x2=700

Show
Your
method

1500 4 00
- 700 2|8 OO0
800
400 mi
Alan is making bunches of flowers.
Each bunch must contain 14 flowers.
Alan has 540 flowers.
How many complete bunches of flowers can Alan make?
14
38 28
1 4[5 40 42
56
4 2 N
120 o
112
_— o8 38 bunches
3 112
126

2 marks

2 marks
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Ava is buying three cups of tea.
She pays with a £20 note.

Her change is £14.45

What is the cost of one cup of tea?

Show
Your
method

4
-1

185

(o)
5 3|525]5
5

a|n Fo

ot
4
5

£1.85

Evan has 560 cm of string.

Evan wants to cut as many 18cm pieces of string as possible.

How many 18cm pieces of string can Evan cut?

31 18
18560 r2 36
54

How much string will be left over?

31

2 marks

1 mark

1 mark
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n In a football league a team gets 3 points for a win, 1 point for a draw and 0
points for a loss.

After the first 30 games a team has 58 points.

There are 38 games in the season.

What is the greatest number of points the team can get in the season?

8x3=24
S > 8
method + 2 4
? 2 82 points
2 marks

n A theatre group is selling tickets to a performance.

Each adult ticket costs £14.
93 adult tickets are sold.

Each child ticket costs £7.
32 child tickets are sold.

How much money do he group get from ticket sales altogether?

9 3 32 1302
X 14 X V4 + 224
show 372 224 1526
method 930 1
1302 £ 1526
2 marks
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